Question: -

Ina A PQR, let ZPQR = 30° and the sides PQ and QR
have lengths 10V/3 and 10, respectively. Then, which
of the following statement(s) is (are) TRUE? (2018 Adv)
(a) ZQPR = 45°

(b) The area of the A PQR is 25v3 and ZQRP = 120°

(c) The radius of the incircle of the A PQR is 1043 — 15

(d) The area of the circumcircle of the A PQR is 100

Solution: -
We have,
In APQR P
ZPQR = 30°
PQ =103 .
QR =10
30°
By cosine rule Q 10 R
] Z 2
cos30° = PQ_+ QR” — PR
2PQ - QR
= 3 _ 300 + 100 - PR?
2 2003
= 300 = 300 + 100 — PR?
— PR =10

Since, PR =QR =10
. ZQPR = 30° and ZQRP = 120°
Area of APQR = LPQ-QR - sin30°
>

1 103 x10x1=25/3
2 2
Radius of incircle of

APQR = Area of APQR

Semi - perimetre of APQR

A 253 _ 2503

b T T 103+10+10 503+ 2)
2
= r=5J3(2-3)
=103 -15
and radius of circumcircle (R) = a_bc = M =10
aA 4x25/3

. Area of circumcircle of
APQR = tR?> =100 &t

Hence, option (b), (¢) and (d) are correct answer.



